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Q.1 Identify the correct mirror image of the given figure when the mirror is placed to the right of the figure.

Ans
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Question ID : 497959416

Q.2 Five buses for five different cities Agra. Kanpur. Lucknow, Meerut and Varanasi depart from five bus terminals T-1 to
T-5 but not necessarily in the same order. The Lucknow bus departs from T-2. The Varanasi bus does not depart from T-
1 or T- 4. The Meerut bus goes either from T-1 or T- 5. The Agra bus does not leave from T- 3 or T- 1. The Kanpur bus
leaves from T- 4. From which terminal does the bus for Agra leave?

Ans X 1. T-3 or T-5
X 2 T-3
X3 T-1
v 4 T-5

[ Question ID : 497959424

Q.3 Four figures marked 1. 2. 3 and 4 are given below. Three of the given figures are similar in a certain manner while one
figure is not like the other four. Choose the figure which is different from the other figures.

BN

1 2 3 4

5.}
w
o =W

[ Question ID : 497959413

Q4 Identify the correct water image of the combination given below.

MAINSTREAM

" X MAIATZUIAM
v INVINRLBEVINA
s INVIIRLHEVIN
<+ |AMWMAIATE

[ Question ID : 497959417

Q5 37 g 1 TEA W A AW Meg F U RE TAOS § ST ZHT U T Meg § HAOSA &

were ;o o w2

Ans «11:@]-&:“-
X 2 e
X 3. RemreT
X 4 f3rete
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l Question ID : 497959407 J
Q6  pick the odd one out.
Ans 1. Cuba
X 2 0slo
W 3. Kyat
/< 4 Fiji
[ Question ID : 497959410

Q.7 Select the term that is related to the third term in the same way as the second term is related to the first term.

BDF .48 :;FHJ . ?

Ans x1. a0
X 2 180
< 3. 240
v 4 480

[ Question ID : 497959406

Q.8 In the Venn diagram given below, the square represents ‘boys’. the circle represents ‘tall persons’, the pentagon
represents “North Indians” and the rectangle represents ‘food lovers’. The numbers given in the diagram represents the
number of persons of that particular category.

How many North Indian boys are tall persons but are NOT food lovers?

Ans  of 112
X 213
X3 16
X 4 25

[ Question ID : 497959420

Q.9 Vilas starts walking from his home and walks 30 m towards south; from there he turns left and walks 40 m. After that,
he turns right and walks 45 m. Then, he turns left and walks 30 m. Then. he tums left and walks 50 m. Then, he finally
turns left and walks 70 m. How far is he now from his home and in which direction with reference to his home?

Ans X 1. 25 m, North
+ 2. 25 m, South
75 3. 5 m, North
X 4. 5m, South

[ Question ID : 497959421

Q.10 Select the mumber that is related to the third number in the same way as the second number is related to the first number.

812801007

Ans  of 1. 200
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X 2128
X 3. 228
X 4100
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[ Question ID : 497959408

Q.11 Which of the following option figures will replace the question mark (?) in the figure given below to complete the
pattern of the figure?

Ans

X4 ﬁ

[ Question ID : 497959419

Q.12 six friends Gopal. Sheela, Reena, Senthil, Hina and Gaurav are standing in a row. There are two persons between
Sheela and Hina. Reena is between Hina and Senthil. Only one person is standing before Gopal. Gaurav is between
Gopal and Hina, who is third from the back end of the row. Which two persons are standing between Sheela and Hina?

Ans X 1. Gaurav and Senthil
75 2. Senthil and Reena
/< 3. Gopal and Reena

+ 4 Gopal and Gaurav

[ Question ID : 497959423

Q.13 If the following figure is folded to form a cube. which number will appear on the face opposite the number *6'?

3 2

Ans X1-

X
N
LV R E N

[ Question ID : 497959414

Q.14



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Select the letter cluster that is related to the third letter cluster in the same way as the second letter cluster is related to
the first letter cluster.

DFH : WUS :: KMO : ?
Ans X1~ PNO
X 2 HIL
X 3 WUT
v 4 PNL

Question ID : 497959405

Q.15 At the time of sunrise, Lokesh is sitting facing a pole. If the shadow of the pole falls to his right, then which direction is
Lokesh facing?

Ans o 1. South
X 2. West
& 3. North
X 4. Bast

Question ID : 497959422

Q16 Ppick the number that is different than the rest.
Ans X 1. 29

X 2 31

X3 37

v 4 33

[ Question ID : 497959412

Q.17 Three different positions of the same dice are shown below. Which number is on the face opposite to the face showing
the number 3?7

Ans XT

Question ID : 497959415

Q.18 Select the figure that is related to the third figure in the same way as the second figure is related to the first figure.

XIRSX
AR ?
T 2 3 4

Ans
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Question ID : 497959409

Q.19 Given here is a piece of transparent paper with some patterns on it. How will the sheet appear when it is folded along
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Question ID : 497959418

Q20 Tdentify the odd triad from among the given number triads.

Ans %12 7. 53

X 2 4,6, 50
%3 3,5,34
v 2418

Question ID : 497959411

Q1 Select the figure that will come next in the following series.

Ans

s,

YRS
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[ Question ID : 497959442

Q.2 Inacode language, POSSIBLE is coded as 1615191992125, How would SERVICE be coded in the same language?
Ans  of 11951822935

X 2 1051822835

X 3 1051821935

X 41951722935

[ Question ID : 497959435

Q.3 The following are the criteria set by a company for the post of Accounts Manager.
1. The candidate must have a Master of Commerce (M.Com) degree in Accountancy.
2. The candidate must have obtained more than 65% marks in the selection test and 70% marks in the interview.
3. The age of candidate should not be less than 30 years and not more than 35 years as on 1 April 2019,
4. The candidate must have at least five years® work experience as an Accountant.

(a) If a candidate satisfies all the criteria except criteria no. 1 as given above, but has completed a Master of
International Business (MIB) course. she/he must be sent to the Head (Accounts) for further interview.

(b)If a candidate satisfies all the criteria except criteria no. 2, but has more than six years of work experience as an
Accountant, then the candidate must be sent to the Senior Accounts Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information

provided in the question.

Rachana has completed an MIB degree with 54%. She has four years’ experience working as an Accountant. She was
born on 2 June 1986. She obtained 66% marks in the written test and 70% marks in the interview.

Ans XT

The candidate is to be sent to the Head (Accounts) for further interview.

< 2. The candidate is to be selected.
+ 3. The candidate is to be rejected.

X 4

The candidate is to be sent to the Senior Accounts Manager for further interview.

[ Question ID : 497959427

Q.4 Two statements are followed by two conclusions numbered I and I1. Assuming the information given in the statements
to be true, even if they do not conform to real-world knowledge, decide which of the conclusions logically follow(s)
from the statements.

Statements:

1. All officers are singers.

2. Some singers are musicians.
Conclusions:

1. Some singers are officers.
I1. No singer is an officer.

Ans o 1. Only conclusion I follows
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/< 2. Only conclusion II follows

/< 3. Both conclusions I and II follow

/< 4. Either conclusion I or II follows

Question ID : 497959428

Q5 Read the given information and answer the question that follows.

o A+ B means ‘A is the father of B’
e A _ B means ‘A is the husband of B*
e A x Bmeans ‘A is the daughter of B’

¢ A+ B means ‘A is the sister of B°

IfP+M-+QxNxT-1U, then how is P related to N?
Ans o 1. Husband

& 2 Brother

/< 3 Son

X 4 Uncle

[ Question ID : 497959433

Q.6 Select the Venn diagram that best represents the relationship between the given set of classes.

Men, Gynaecologist, Doctor
Ans

X

X2

@Oo@%)

[ Question ID : 497959443
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Q.7 Jiva is the daughter of Kartik. Kartik has two sons. Adah is the daughter of Mridula. who is the wife of Kartik’s son.
Veenu is Prem’s mother. Prem is the brother of Ashok, who is the father of Adah. How is Adah related to Veenu?

Ans X 1. Mother
& 2 Sister
/< 3. Daughter
+ 4 Grand-daughter

GET IT ON

Google Play

[ Question ID : 497959434

Q.8 Six symbol clusters are given below. two of which are the same. Find the two clusters that are exactly the same.
(A) &£%S#%S%#& %S
B)& %S &S @H#&%S
C)&%S@%NS@H#& %S
D) &%SE%S@HS%S
BE)&%SH#%S@H#&%S
F)&%S#%S@#&%S

Ans . X 1. Band C
A2 AandD
K3 CandD
v 4 Eand F

[ Question ID : 497959432

Q.9 Three statements are followed by four conclusions numbered L II. III and IV. Assuming the information given in the
statements to be true, even if they do not conform to real-world knowledge, decide which of the conclusions logically
follow(s) from the statements.

Statements:
1. All girls are experts.
2. Some experts are tourists.
3. All tourists are foreigners.

Conclusions:

L Some foreigners are experts.

I Some foreigners are girls.
I,  No foreigner is a girl.

IV.  All tourists are experts.

Ans 1. Conclusion I, IT and IV follow
75 2. Conclusion TV and either II or III follows

W 3. Conclusion I and either IT or 11T follows

75 4 All conclusions follow

[ Question ID : 497959429

Q.10 Which of the addresses given as options is exactly the same as the address given below?

P Narsinh Kumar Raghavan
House no. 5432/1, Silver Paradise
Kings Square, Nemesis Road,
Thiruchirapalli — 562 025

Ans
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P Narsinh Kumar Raghavan

House no. 5432/1, Silver Paradise
- Kings Square, Nemesis Road,

Thiruchirapalli — 562 025

P Narsinh Kumar Raghavan

House no. 5432/1, Silver Paradise
~ Kings Square, Nemasis Road,

Thiruchirapalli — 562 025

P Narsinh Kumar Raghavan

House no. 5432/1, Silver Paradise
- Kings Square, Nemesis Road.

Thiruchirapali — 562 025

P Narsinh Kumar Raghawan
House no. 5432/1, Silver Paradise
Kings Square. Nemesis Road,
Thiruchirapalli — 562 025
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[ Question ID : 497959430

Q.11 The following are the criteria set by a company for the post of Accounts Manager.
1. The candidate must have a Master of Commerce (M.Com) degree in Accountancy.
2. The candidate must have obtained more than 65% marks in the selection test and 70% marks in the interview.
3. The age of candidate should not be less than 30 vears and not more than 35 years as on 1 April 2019.
4. The candidate must have at least five years” work experience as an Accountant.

(a) If a candidate satisfies all the criteria except criteria no. 1 as given above. but has completed a Master of
International Business (MIB) course. she/he must be sent to the Head (Accounts) for further interview.

(b)If a candidate satisfies all the criteria except criteria no. 2. but has more than six years of work experience as an
Accountant, then the candidate must be sent to the Senior Accounts Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information
provided in the question.

Manav has completed his M.Com degree in Accountancy. He also has an MIB degree. He has five years’ experience
working as an Accountant. He was born on 13 May 1987. He obtained 66% marks in the written test and 70% marks in
the interview.

Ans 3 1. The candidate is to be rejected.
52

The candidate is to be sent to the Head (Accounts) for further interview.

X 3

The candidate is to be sent to the Senior Accounts Manager for further interview.

+ 4 The candidate is to be selected.

Question ID : 497959426

Q.12 Six numbers are given below, two of which are the same. Find the two numbers that are the same.
(A) 254879381  (B) 254879831
(C) 254897381 (D) 254897381
(E) 254897831  (F) 258497381

Ans o 1. Cand D
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X2 AandB
X3 CandE
X4 Band F

[ Question ID : 497959431

Q.13 There are five teachers named A. B. C. D and E. Each of them teaches one of five different subjects i.e. Physics.
Chemistry, Botany, Zoology and Mathematics, C does not teach Botany, Chemistry or Physics. A does not teach Botany
or Zoology. Mathematics is taught by B. E does not teach Chemistry or Botany. Who teaches Physics?

Ans X 1. AorC
v 2 E
X3 AorE
Xa A

[ Question ID : 497959425

Q.14  Select the letter cluster that will come in place of the question mark (?) in the following series.

FNV, CIQ, ZFL. 7, TXB
Ans X 1. VBG

v 2 WBG

X 3. WCH

X 4 WCG

Question ID : 497959441

Q.15 Ifinacode language. MAGNIFICENT is written as JOHBNFUOFDJ. How would PROMISCUITY be written in the
same language?

Ans 51 INSPQIZUJVD
X 2. INPSQJAUIVD
W 3 INPSQSZUJTVD
X 4 INPSQITUZVD

[ Question ID : 497959436

Q16 How many triangles are present in the figure given below?

Ans x1. 20
X 218
X322
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[ Question ID : 497959444

Q17 gelect the number that will come next in the following series.

40, 20, 20, 30, 60, ?
Ans - X'1.130

< 2 140

v 3 150

X 4 110

Question ID : 497959440

Q.18 The total of three numbers is 120. The second number is two times the first number. The third number is three times the
first number. What is the third number?

Ans X1 40
v 2 60
X 3 80
K 4 50

Question ID : 497959438

Q19 gelect the number that will come next in the following series.

15, 19, 28, 44, 69, ?
Ans X1 103

v 2 105

X 3100

X 4 99

Question ID : 497959439

Q.20 There are five boxes: A, B, C. D and E. Box B is twice as heavy as box A. Box C is 20 kg heavier than box E. Box D is
one-and-a-half times as heavy as box E, and box C is four times as heavy as box A The weight of box E is 20 kz.
‘Which of the boxes is the heaviest of them all and what is its weight?

Ans 1 D, 40 kg
<2 D, 60kg
V3 C, 40kg
X 4 C,60kg

Question ID : 497959437

Section : General Awareness1

Q.1
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In the National Institutional Ranking Framework (NIRF) 2019 ranking. name the college that got the top ranking, This
college completes a hat-trick in #1 ranking in 2019.

Ans 3 1. Hindu College, Delhi University

/< 2. Lady Sri Ram College for Women. Delhi University
+ 3. Miranda House, Delhi University
/< 4. St Stephens College, Delhi University

[ Question ID : 497959447

Q.2 F=fafem aeigs wie Ba & 4 S § 9 v 19 =03 o8 (99 A5aT) F 1 56 Heel Sd
T FTH TA

A 1 FeaToTS- HIEEST
X 2 orRT- Fafhera
X 3 FEH- HE0T
X 4 FEHERE- T

Question ID : 497959462

Q.3 fuaAfafda § & #i9 @ 3=9 ~uweT & § F1¢ 9 @ ¥ gafed g § i 77 sEae ek
R 1 e fr gefe e

Ans 1. HGIE 3= AT
WWW.exammix.com

X 2 AT 3= SO
W 3 Thelehedl 3= =TT
X 4 9EAT 3= ST

Question ID : 497959463

Q.4 John Dalton. the pioneering atomic theory scientist, was born in which country?

Ans o 1. England

75 2. Netherlands
/< 3. France
X 4 Austria

Question ID : 497959452

Q5 woiwe o) TG wWe B iR die ¥ e e o v F fua #2
s

X stfee

X fraeatels

X 4 IfesTs

[ Question ID : 497959455
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Q6 The condition called leucoderma affects which of these human body parts?
Ans 1. Blood

/< 2. Nervous system

< 3. Heart

v 4 Skin

[ Question ID : 497959464

Q.7 1If you see a sign 'ST' while driving on an Indian road, what does that road sign mean?
Ans 1. A signal with 5 roads branching out is coming ahead

75 2. 5 km is the speed limit of the road ahead

75 3. There are 5 turns ahead of the road
v

Vehicles weighing more than 5 tonnes should not use the road

[ Question ID : 497959459

Q8  Which of these instruments is NOT a woodwind musical instrument?
Ans X 1. Flute

& 2. Clarinet

v 3 sarod

/< 4 Oboe

Question ID : 497959450

Q.9 The ever popular antiseptic product called Dettol is a brand owned by which of these companies?
Ans X 1. Marico Group

/5 2. ITC Group
« 3. Reckitt Benckiser Group
/< 4. Jyothi Laboratories

[ Question ID : 497959445

V0 ordat @ ST FT UER R Rw e v=ar B

Ans X1 gUER
X 2. Yha

v IfER
X 4 TEER

Question ID : 497959446
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Q.11

Ans

What is the name of the visa that enables you to travel to 23 European countries?
/< 1. Europe Visa
& 2 Baltic Visa
& 3. Euro Visa
« 4 Schengen Visa

[ Question ID : 497959457

Q.12

Ans

133 ol & IEE FHST 9R F FE B # T gar ar
X1 gfarh daRa

v o @t s

A3 3eadr aRa

X 4 of¥eelt sma

[ Question ID : 497959448

Q.13

Ans

fererererdy STeRX 8hT (HERTg) form o & gam ur?

211989
X 21999
V'3 1993
X 42004

[ Question ID : 497959454

Q.14

Ans

FEfEa & TR & 350 A iR & Seatetad # ¥ B9 @wEr 57 50-70% IR &7 9T A
T 8

A o
X2 i

v i Rifdes
X o giraH

[ Question ID : 497959458

Ans

Q.15 sGS1 v s 379E ¢ o FRel o o 1 E ¥ & T § wes o § SGS1 3w
T # & 5w & @ gefe B2

X1 FHemR
X 2. ZTEOT 3R
v o mFer 3T

X4 ETEuT T
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[ Question ID : 497959460

Q.16 The Security Printing and Minting Corporation of India Limited (SPMCIL) has got its own Security Paper Mill that
produces the paper for bank notes. Where is the Security Paper Mill located?

Ans X 1. Nashik, Maharashtra
< 2. Dewas, Madhya Pradesh
/< 3. Kolkata, West Bengal
+ 4 Hoshangabad, Madhya Pradesh

[ Question ID : 497959449

Q.17 The Bombay High Court has three bench courts. Which of the 4 cities listed below is NOT one of the benches of the
Bombay High Court?

Ans o 1. Pune
/< 2. Nagpur
/< 3. Aurangabad

/< 4 Panaji

Question ID : 497959453

Q.18 This institute was founded in 1878 as the British Imperial Forest School. It is now called the Forest Research Institute
(FRI). Where is it located?

Ans  of 1. Dehradun
X 2 Nainital
#< 3. Rishikesh
/< 4 Darjeeling

Question ID : 497959456

Q.19 Tr=fafem # & FFw affemy TEaaar Jae & Fooaiear affes (Affes Fae St o Al
FI T §) = Taw wiEa e

X . ggATTHA AT (Subramaniya Siva)
X 2 e RS

v o 33 ReFae Reot

X 4 IRafEar FEaaAa

Ans

[ Question ID : 497959461

Q.20 gewifes ot #1 o &3 & glawT & T g @ i awon Seeteten B S aee & fr o
ofr?

A 1 FBT 53 2017-18
X 2 FET 3¢ 2018-19
X 3 FHET g3 2015-16
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X 4 FET g€ 2016-17

[ Question ID : 497959451

Section : General Awareness2

Q1 =iz & fww, od @ s @R s & Buw - 7w O B Gtd & ks &
ITUT F I H AT 2

Ans X yfearafiar @ s

X 2. GeRTel T FHeTTH
v 3. gt T T
X 4 GUATULST T HETTS

[ Question ID : 497959483

Q2 What is the colour that is prescribed for school buses in India?

Ans X 1. Green
v 2. Yellow
& 3 Red
& 4 Blue

Question ID : 497959474

Q3 ¥ 2019 # Ffreiew & TrE FfETa ¥ (Julian Assange) FT wied H TFH &3 F ZgEH &
Frwrar & amar ar?

A X g
X 2 e
v 3 gFEER
X« st

[ Question ID : 497959470

Q.4  zETEes AW FOhE HW 8 UF 39orAe (UNCTAD) =R, ferder 3t Rerw & 72 & T & R
TFS T5E ZEN FE vE Pl et W S §) gwer gEmed s e 37

s 1 T
X2 FEeE
?(3‘%

X+ ofw

[ Question ID : 497959484

Q.5 India conducted joint military exercise called BOLD KURUKSHETRA 2019' in April 2019 with which country?
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Ans  f 1. Singapore
& 2. Russia
X 3. Tran
X 4 Israel

Question ID : 497959467

Q-6 Name the telescope that has recently created the live image of the black hole.
Ans ' 1. Event Horizon Telescope

/< 2. Hubble Space Telescope

75 3. Keck Observatory Telescope

/< 4. Spitzer Space Telescope

[ Question ID : 497959476

Q7 W IRITET # A A § S AgERr [ (theory of monetarism) ¥ FHY Fiw ¥ 3T &2
Ans “1_ m@ ﬁ ﬁ

X 2 Sraw o

X3 AT FaE Freg

X 4 vsm By

[ Question ID : 497959472

Q.8 Which city in Central India is famous for its Diamond Railway Crossing’. a point where the North-South Railway lines
meet the East-West Railway lines?

Ans X 1. Nanded
/< 2. Indore
/< 3. Bhopal

+ 4 Nagpur

Question ID : 497959468

Q.9 One set of digits in the GST number is a direct replication of which of these identities of the GST holder?
Ans o 1. PAN Card Number

# 2. Mobile Number

/< 3. Aadhaar Card Number

/< 4 Ration Card Number

[ Question ID : 497959481

Q.10 'What is the name for the Spanish and Portuguese Parliaments? The name has been derived from their common medieval
history.

Ans X 1. Duma
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/< 2. El Paso
!f 3. Cortes
X 4 Caldera

[ Question ID : 497959482

Q.11 =38 =&, 37T WFN F SET &€ F 99 UF go=e AT O HERr 9 @ ¥ ante ety
# ¥ fw omy & uw v ¥

s XK1 mreEE
X 2. FETElT
v afe
X4 EgH

[ Question ID : 497959477

Q12 FEhfew, wefors Feor & aga Wi TSRt 1 s § S s & AR & ardw et &
s o AAE w9 W gUR A AT WA B AT & W UW F A Y A S 82

e X1 8 AR
X2 greg wifaa
v 5 RITeE e
X4 @ e

[ Question ID : 497959471

Q.13 Though Spanish is the most widely spoken language. this country is also home to languages such as Nahuatl, Yucatee
Maya and Mixtec. Which country is being referred to here?

Ans o 1. Mexico
X 2 Chile
& 3. Bolivia
/5 4 Argentina

[ Question ID : 497959473

Q14 1n which city of India is the Indian Diamond Institute (IDI) situated?

Ans

/< 1. Bangalore

X 2. Vadodara
/5 3. Mumbai
\f 4. Surat

[ Question ID : 497959475

Q.15 @mmﬁa;m,mﬁ#mmgﬁmﬁmmgmtm@pﬂhm
mmmmymmmaﬁmraﬂmm#ﬁm?ﬂgmm

Ans
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K 1. e

v 2 FoeTsl

X3 FerEaT

X 4 agw AR =T

[ Question ID : 497959466

Q.16 [n which vear was the Postal Index Number (PIN) or PIN Code system started in India?
Ans of 1. 1972

X 21947

X 31950

X 41998

[ Question ID : 497959469

Q17 fre7 FarERT WaA (WHO) a¥ ¥ 5w R feg moreew Raw #=mar &2
e XK1 7 wead

v 2 7 3

X3 7 A=

X 4 7 A\

[ Question ID : 497959465

18 gfexr 3k =od T it Rver o Fw 7T wwT &1 T 2
v I

X2 ofm

X3 T

X 4 fPreprem

[ Question ID : 497959480

W Gmfefle & @ #F @ gt # aug s gy s\ e 2
e K amer % 3ean il gfdor aftar

X 2 7T & = AT @i

X3 M F 3T HR AT

Vi AT % T AR e

[ Question ID : 497959479
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K. TS T

X 2 ISgaeR aeay
v 5 A TS

X o Togepe [T

GET IT ON

Google Play

Question ID : 497959478

Section : Arithmetic Ability1

Q.1

Ans

Solve the following.

2 (2.65)3— ] -
(5.3)2+6.3

K 1. 535
X 2 335
v 3 430
X 4 645

[ Question ID : 497959488

Q.2

Ans

If the numerator of a fraction is decreased by 20% and the denominator is increased by 25%, the value of the fraction

4 s sk .
becomes — . What is the original fraction?

X1z

3z

X2

49

v

28

X4

17

[ Question ID : 497959500

Q.3

Ans

The average score of a class in a test was 56. The average score of the brightest 25% students was 80 and the average
score of the dullest 35% students was 30. If the ratio of the boys and girls in the remaining 40% of students was 2:3 and
the average score of the boys in this remaining group was 60, what was approximately the average score of the girls in
the remaining 40%?

X 1. 62.40
X 2 68.75
X 3. 60.20
v 2 66.25

Question ID : 497959503
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%4 The value of (0.3 X 0.3 —0.02) (0.2 X 0.2+ 0.01)7? is equal to:

Ans X 1. 1.45
X2 1.70
X 3 040
v 4 1.40

[ Question ID : 497959487

Q.5 Inanexamination. the average marks of a student per paper were 72. If he would have secured 15 more marks in
Mathematics and 17 more marks in History, his average marks per paper would have been 75.2. How may papers were
there in the examination?

Ans XT 12
X228
X311
v 4 10

[ Question ID : 497959502

Q6 Find the value of x in the following equation.

27.48—x - 20

3.5 0.3

Ans X 1. 3,68
X 2 978
V'3 648
X 4 748

[ Question ID : 497959485

Q.7 A shopkeeper purchased 30 kg of wheat at T 30 per kg and mixed it with 40 kg of wheat which was purchased at T 20
per kg. At what approximate rate should he sell the mixture to gain a profit of 10%7?

Ans X 1. T 31.25
K2 T24.15
X 3 T28.26
v Z26.71

[ Question ID : 497959504

Q.8 An aggregate of 36% of the total marks is required to pass an examination and 60% to get a first class. A student scored
298 marks and failed by 26 marks. How many marks should he have secured 1o get a first class?

Ans  of 1. 540
X 2 560
< 3 420
X 4 480

[ Question ID : 497959498

Q.9
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T ) :%,Whatisthevaiueofx?

Ans 1

Question ID : 497959495

Q.10 The containers A and B have mixtures of milk and water in the ratios of 3 : 5 and 7 : 9, respectively. If equal quantities
from both the containers are mixed to form a new mixture, what will be ratio of milk and water in the new mixture?

Ans  of 113:19
X 213:17
X35:7
X45:0

Question ID : 497959496

Q.11 f=ffEa § ¥ 37 Fi7 o 75% o g3 § 57 295, 403 3 547 & &7 &3 X & O 9E 7
Mroe?

ans X 1. 64
X218
vz 36
X 4 48

Question ID : 497959493

Q.12 Which one number would replace both the question marks in the following equation?

L kS

2 _342

Ans X1 144
v 2 114
K3 118
X 4124

[ Question ID : 497959490

Q13 1f2.5%(3+5) — 18+ x =4, then the value of x is:

Ans  of 11,125
X 2.0.50
< 3. 0.88



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

X4 125

Question ID : 497959486

Question ID : 497959492

Q.15
If 30% of 25% ofg of x =105, what is the value of x 2

Ans X1 1880
X 2 1760
v 3 1960
X 4 1660

Question ID : 497959499

Q.16 8x + 5y

Ifx: y = 5:3, find the value of

Tx — 5y ’
Ans i

[ Question ID : 497959494

Q.17 Find the greatest four-digit number that will leave remainders 5, 6, 12 and 17. when divided by 8. 9, 15 and 20
respectively.

Ans X1 9728
& 29993
X 3 8723
v 29723

[ Question ID : 497959491 ]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Q.18 The average weight of 12 girls is 6 kg less than the average weight of 18 boys. If the total weight of 12 girls is 276 kg.
what is the average weight of 12 girls and 18 boys taken together?

Ans X 1. 25.4 kg
X 2 28.8kg
X3 272kg
v 266kg

[ Question ID : 497959501

Q19 golve the following.

8.5

925 — 2% _—9

1+ 1
2+m

Ans  off 1. 2,75
X 2 3.25
X 3 3.65
X 4 250

[ Question ID : 497959489

Q.20 Anamount of ¥ 1,268 is to be divided among A, B and C such that their shares when reduced by ¥ 7, ¥ 12 and 317
respectively would be in the ratio of 2 : 5 : 7. What is B's share?

Ans X1 T 633
K2 582
Vs T 452
X 4 T181

[ Question ID : 497959497

Section : Arithmetic Ability2

Q.1 The difference between the compound interest and simple interest on a certain sum of money at 10% interest per annum
for 2 years is T 185. What is the sum?

Ans X1 T22,500
X 2. T24,500
X 3. 37,000
v 4 T 18,500

[ Question ID : 497959511

Q.2
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The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Departments Female

HR 3:5

m 23

Accounts 37

Marketing 74

Production 53

If 40% of the male employees and 60% of the female employees in each department are executives, what is the ratio of
male non-executives to female non-executives in the Accounts department?

Ans  of 1. 9:14
X2 7:11
K347
Xa9:11

GET IT ON

Google Play

Question ID : 497959524

Q.3 At simple interest, a certain sum of money amounts to ¥ 1,488 in 2 years and to ¥ 1,776 in 4 years. Find the sum.

Ans X 1. 900
X 2 1,600
X 3 T 1,450
v 4 71200

Question ID : 497959507

Q.4 A 50-cm-wide path is made around a circular garden having a diameter of 10 m. What is approximately the area of the
path?

X 13220 m?
v 2 16.50 m?

Ans

X 3 18.85 m?
X 4 13.35 m?

Question ID : 497959512

Q.5 By selling 78 apples, a fruit seller gains the selling price of 18 apples. What is his gain percent?
Ans X 1. 33.3%

X 2 23.7%

v 5 30%

X 4. 25%

[ Question ID : 497959505

Q.6 A certain sum amounts to ¥ 1,320 after 2 years and to T 1.760 after 4 years on compound interest. What is the sum?

Ans X 1. 1,200
v 2 F990
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X 3. T1,080
N4 T1.120

GET IT ON

Google Play

Question ID : 497959510

Q.7 The following table shows the total number of students studying in various colleges over six years. Study the table and

answer the question that follows.
Year Ol

A B c D

2013 325 410 210 310

2014 270 380 260 340

2015 40 ) 310 410

2016 360 260 250 260

2017 275 350 340 360

2018 350 360 230 310

‘What is the ratio of the total number of students studying in College C to that in D over the six years?
Ans X1.5:6
X24:7
X32:3
via:s

[ Question ID : 497959520

Q.8 The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Female

HR 335

m 23

Accounts =57

Marketing 7:4

Production 53

What is the total number of female employees in the Marketing department?

Ans X 1. 56
X 2 45
V'3 32
X 4 36

[ Question ID : 497959522

Q.9 The length of a rectangle is twice its breadth. If its length as well as breadth is increased by 5 cm, its area increases by
250 cm? . What is the length of the rectangle?

Ans X116 cm
V' 2 30 cm
X 3 24cm
X 4 34 cm

[ Question ID : 497959513

Q.10 The circumference of the base of a right circular cylinder is 88 cm and its curved surface area is 1320 cm? ., What is its
volume?

X 17520 cm®

Ans
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X 2. 8640 cm3
X 3 6420 cm®
v 4 9240 cm3

GET IT ON

Google Play

[ Question ID : 497959514

Q.11 A man takes 6 hours 30 minutes to walk from A to B and then drive back from B to A. He would have gained 2 hours if
he would have driven both ways. How long would the man take to walk both ways?

Ans 1. 8 hours 15 minutes
' 2. 8 hours 30 minutes
#< 3. 7 hours 45 minutes
#< 4. 9 hours 30 minutes

Question ID : 497959518

Q.12 4 men and 9 boys can complete a piece of work in 3 days, while 2 men and 6 boys can do the same work in 5 days. How
many days would 8 men and 6 boys take to complete the same work?

Ans o 1. 2.5 days
/< 2. 2 days
/X 3. 1.5 days
< 4 3.5 days

Question ID : 497959516

Q.13 The following pie chart shows the percentage distribution of a total of 400 employees in different departments of a
company. The table shows the ratio of male to female employees in different departments. Study the chart and the table
and answer the question that follows.

% of Employees in Different Departments Male :
Departments Female

HR 35

m 23

Accounts 3.7

Marketing 7:4

Production 53

What is the ratio of the number of female employees to the male employees in the IT and Marketing departments taken

together?

Ans X1 7:15
X 213:17
V'3 17:20
X 417:19

[ Question ID : 497959523

Q.14 A sumof T 1,250 was lent out in two parts, one at 12% simple interest and another at 8% simple interest. If the total
sum after one vear was ¥ 1,382, find the amount lent out at 8% interest.

Ans X1 F 700
X 2 T650
V'3 T 450
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X 4 T 800

GET IT ON

Google Play

[ Question ID : 497959508

Q.15 A man is twice as efficient as a boy. If 1 man and 1 boy can complete a piece of work in 12 days. how many days would
a man alone take to complete the same work?

Ans 116 days
/< 2. 36 days
« 3. 18 days
< 4. 24 days

[ Question ID : 497959515

Q.16 By selling an article for T 1,744, a seller earns a profit of 20% more than the loss he would have incurred if he had sold
the article for ¥ 1,480, What is the price of the article?

Ans X1 T 1,700
X 2 1,400
W 3 T 1,600
X 4 31,850

Question ID : 497959506

Q.17 A cyclist covers the four sides of a square field at speeds of 10, 15, 20 and 25 km per hour. What is approximately the
average speed of the cyclist around the field?

Ans X 1. 17.50 km/h
v 2 1558 km/h
X 3 13.84 kmh
X 4.19.55 km/h

[ Question ID : 497959519

Q.18 A car covers the first 42 km of a journey in 40 minutes and the remaining 43 km in 60 minutes. What is the average
speed of the car?

Ans X1 52.5 km/h
X 2 48.5 km/h
v 3 51 km/h
X 4 47 km/h

[ Question ID : 497959517

Q.19 The simple interest on a sum of money at 10% per annum for 2 years is T 2,400. Compounded annually, what would be
the compound interest on the same sum for the same period at the same rate of interest?

Ans X1 ¥2.620
X 2 2,580
X 3 32,450
v 4 T2.520
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[ Question ID : 497959509

Q.20 The following table shows the total number of students studying in various colleges over six years. Study the table and
answer the question that follows.

" College
Year A B c >
2013 23 410 210 320
014 i 380 260 340
013 420 H0 310 410

2016 360 260 250 260
017 175 330 340 360
2018 350 360 230 310

If the ratio of the boys to the girls studying in College B over the given years is 2 : 3 and that in College D is 3 : 2, what
is the ratio of the number of boys in College B to the number of girls in College D?

Ans o 1. 11:10

X217:15
2<3.10:11
X 4.33:20

[ Question ID : 497959521

Section : General English1

Q1 Select the most appropriate preposition to fill in the blank.
Please ponder the problem carefully to find a solution.
Ans X1 with

v 2 over
X 3 at
/X 4. through

[ Question ID : 497959534

Q.2 Select the option that expresses the given sentence in direct speech.

Mr Das exclaimed joyfully that his daughter had won the table tennis championship.

Ans x 1.
Mr Das said, "Oh! My daughter wins the table tennis championship."

X 2

Mr Das said, "What! My daughter has won the table tennis championship?"

X 3

Mr Das said, "Alas! His daughter has won the table tennis championship."”

v

Mr Das said, "Hurrah! My daughter has won the table tennis championship."”

[ Question ID : 497959538

Q.3
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Select the most appropriate synonym of the given word.

APPATLLING
Ans f 1 Terrifying
&< 2. Attractive
75 3. Charming
& 4 Ridiculous

[ Question ID : 497959542

Q.4 Parts of the following sentence are given as options. Identify the part that has an error.

Organic farming strikes a healthy balance across the traditional and modern knowledge.

Ans % 1. a healthy balance

v 2 across the traditional
—— X 8- and modern knowledge

/< 4 Organic farming strikes

Question ID : 497959525

Q.5  Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed. select No
improvement'.

Activists have criticised the forest department for failure to forming the Aravalli protection task force.
Ans

75 1. to fail in forming the
« 2. for failing to form the

/< 3. No improvement
/< 4. in failing to form the

Question ID : 497959528

Q.6  Select the most appropriate conjunction to fill in the blank.

Heis himselfnot too well off; . he never disappoints friends in need.
Ans  of 1. nevertheless
/< 2. although
< 3 and
& 4 otherwise

[ Question ID : 497959535

Q.7
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Select the option that expresses the given sentence in direct speech.

Aanya told me that my painting would win me the first prize.

Ans "1_

Aanya said to me, "Your painting will win you the first prize."
X 2

Aanya said to me, "My painting will win me the first prize."
X 3

Aanya told to me, "My painting will win me the first prize."

X 4

Aanya said to me, "Your painting would win the first prize."

Question ID : 497959537

Q.8 Parts of the following sentence are given as options. Identify the part that has an error.

The frequent occurrence of torrential rains and floods make disaster management very important.
/< 1. very important

« 2 make disaster management

Ans

/< 3. of torrential rains and floods

/< 4. The frequent occurrence

[ Question ID : 497959526

Q9 Select the most appropriate ANTONYM of the given word.

FICKLE

Ans X 1. Fresh
v 2. Constant
X 3. Wicked
& 4 Gentle

Question ID : 497959544

Q10 gelect the option that expresses the given sentence in reported speech.

You said, "I checked all my drawers but couldn't find the car keys."
Ans x 1.

You said that vou checked all vour drawers but couldn't find the car keys.

v &3

You said that you had checked all your drawers but couldn't find the car keys.

X 3.

You said that you checked all my drawers but couldn't find the car keys.
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y 8
You said that I checked all my drawers but couldn't find the car keys.

[ Question ID : 497959539

Q11 gelect the most appropriate preposition to fill in the blank.

The murderer was condemned life imprisonment.
Ans X1 for
X2 by
v 3 to
K 4 of
[ Question ID : 497959533

Q12 gelect the option that expresses the given sentence in passive voice.

She has submitted all the required documents on time.
Ans 1. All the required documents has been submitted on time.

X7 All the required documents were submitted on time.

X 3

The submission of all the required documents was done on time.

« 4 All the required documents have been submitted on time.

[ Question ID : 497959531

Q13 gelect the most appropriate synonym of the given word.

CURTAIL
Ans X 1. Abort
& 2= Abstain
+ 3 Shorten
/X 4 Expand

[ Question ID : 497959541

Q14 gelect the most appropriate synonym of the given word.

VENERAELE
Ans X 1. Forcefual
+ 2. Respectable

/< 3. Miserable
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/< 4 Contagious

Question ID : 497959543

Q.15 gelect the most appropriate conjunction to fill in the blank.

She cannot hope for a promotion  her performance improves drastically.
Ans x 1. if
X 2. yet
KT lest
v 4 until
[ Question ID : 497959536

Q.16 gelect the option that expresses the given sentence in reported speech.

The policeman said to the suspect, "Where were you at this time yesterday?"

Ans «1_

The policeman asked the suspect where he was at that time the previous day.

X2

The policeman asked the suspect where was he at this time the previous day.

X 3

The policeman asked the suspect where was he at that time yesterday.

X 4

The policeman asked the suspect that where he was at this time yesterday.

Question ID : 497959540

Q.17 Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed. select No
improvement'.

No sooner did she leave the house when the burglar broke in.
Ans X 1. No improvement

/< 2. left the house but the burglar broke in
« 3. leave the house than the burglar broke in

/< 4. left the house when the burglar broke in

Question ID : 497959527

Q18 gealect the option that expresses the given sentence in active voice.

Sweets were being distributed among the staff on the occasion of Diwali.

Ans ?‘:1-

They distributed sweets among the staff on the occasion of Diwali.

v

They were distributing sweets among the staff on the occasion of Diwali.
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X 3.

They will be distributing sweets among the staff on the occasion of Diwali.

X 4

They are distributing sweets among the staff on the occasion of Diwali.

[ Question ID : 497959530

Q19 gelect the option that expresses the given sentence in passive voice.

Water the plants regularly lest they die.
Ans X 1. Let the plants to be watered regularly lest they die.

/< 2. The plants be watered regularly lest they die.
« 3. Let the plants be watered regularly lest they die.
/< 4 The plants should be watered regularly lest they die.

Question ID : 497959532

Q20 gelect the option that expresses the given sentence in active voice.

A special edition of this magazine will be brought out early next year.

Ans x 1.

They are bringing out a special edition of this magazine early next year.

X 2

They will bring out a special edition of that magazine early next year.

X 3

They brought out a special edition of this magazine early next year.

v 3

They will bring out a special edition of this magazine early next year.

[ Question ID : 497959529

Q1 Select the grammatically correct sentence from the given options.
Ans X 1. Either Sourabh or you is to blame for this financial loss.
/< 2. Either you or Sourabh are to blame for this financial loss.

/< 3. You or Sourabh are either to blame for this financial loss.

« 4 Either vou or Sourabh is to blame for this financial loss.

[ Question ID : 497959558
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Pull the strings

Ans

7 4 To be frank

/< 1. To reduce speed
75 2. To be very frank
+ 3. To manipulate

Q2 Select the most appropriate meaning of the following idiom.

GET IT ON
Google Play

[

Question ID : 497959549

The mechanic

Ans X 1. get off

2" Make a confession
/< 3. To treat as unimportant

« 4 Make a great fuss about a trifle

Q3 Select the most appropriate meaning of the following idiom.

Make much ado about nothing
Ans X 1. To get rid of something

[

Question ID : 497959547

Q4 Select the most appropriate phrase to fill in the blank.

repairing the machine immediately.

< 2" set on
75 3. setup
W 4 set about

Ans o 1. Continuous

2 2. Cuntinuous
X 3. Continous

= X Continouse

Question ID : 497959556

Q5 Select the correctly spelt word.

[

Question ID : 497959553

One who hates mankind

Ans

Q.6 select the option that can be used as a one-word substitute for the given group of words.
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& 1. Misnomer
/5 2. Misogynist
« 3. Misanthrope
& 4 Malevolent

Question ID : 497959551

Q.7 Select the option that can be used as a one-word substitute for the given group of words.

To preserve from extinction
Ans X 1. Perturb
& 2 Persuade
/< 3. Perplex
W 4 Perpetuate

[ Question ID : 497959550

Q8 gelect the correctly spelt word.

Ans X 1. Neglegence
+ 2. Negligence
/< 3. Negligance
/< 4 Negligense
Question ID : 497959554
Q.9

Select the most appropriate ANTONYM of the given word.

TRANSPARENT
Ans X 1. Clear
< 2. Translucent
+ 3 Opagque
& 4 Lucid

[ Question ID : 497959546

Q10 gelect the most appropriate ANTONYM of the given word.

SURPLUS

Ans X' 1. Decrease
< 2. Sufficient
V' 3. Deficit
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75 4 Abundant

Question ID : 497959545

Q.11 Select the most appropriate phrase to fill in the blank.

The doctor said there was nothing serious and the patient would $001L.

Ans  of 1. come round
X 2. come over
—— X -3- come up

75 4. come upon

[ Question ID : 497959555

Q12 gelect the most appropriate meaning of the following idiom.

Order of the day
Ans X 1. Sentence passed by a judge
2. An impossible situation

« 3. Condition prevailing at the time
/5 4 A state of uncertainty

[ Question ID : 497959548

Q13 gelect the grammatically correct sentence from the given options.
Ans o 1. Household duties prompted her to take a break from work.
/< 2. Household duties prompted to take a break from her work.
/< 3. Her household duties prompted to take a break from work.

= X == A break from work prompted to take her household duties.

[ Question ID : 497959557

Q.14 select the option that can be used as a one-word substitute for the given group of words.

One who eats too much

Ans X 1. Greedy

/< 2. Ravenous
. o 2 Glutton
X 4 Hungry

[ Question ID : 497959552

Q.15
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Select the grammatically correct sentence from the given options.
Ans 3 1. Passengers are requested to be remained seated.
/< 2. Passengers requested to remained seated.
/< 3. Passengers are requested to be remaining seated.

« 4 Passengers are requested to remain seated.

Question ID : 497959559

Comprehension:

The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the confractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
into an alliance with the purpose of helping the client overcome their
problems. The alliance lasts till the client is able to deal with the
problems and take control of their life. It is a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic, genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be '"wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's situation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus.
empathy enriches the therapeutic relationship and transforms it into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

SubQuestion No : 16
Q16 Which of the following statements is NOT true?

Ans 1. A good therapist wins the confidence of the client.

« 2. A good therapeutic alliance is an eternal bond.

53

A therapist encourages the client to overcome all problems.
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/< 4. A therapist plays the role of a healer.
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[ Question ID : 497959565

Q.17

Ans

Comprehension:

The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the contractual nature and the limited
duration of the therapy. The client and the therapist willingly enter

into an alliance with the purpose of helping the client overcome their
problems. The alliance lasts till the client is able to deal with the
problems and take control of their life. It is a relationship based on
mutual trust and confidence. A high level of frust is essentfial to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic. genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be 'wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's situation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus.
empathy enriches the therapeutic relationship and transforms it into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

SubQuestion No : 17

What are the two key ingredients of a therapeutic
relationship?

« 1. Trust and confidentiality

/< 2. Trust and intellectual understanding
/< 3. Empathy and sound advice

#< 4 Confidence and mutual interest

Question ID : 497959562

Comprehension:
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The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the confractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
into an alliance with the purpose of helping the client overcome their
problems. The alliance lasts till the client is able to deal with the
problems and take control of their life. It is a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic. genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be ‘wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's situation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus,
empathy enriches the therapeutic relationship and transforms it into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

SubQuestion No : 18

Q18 Which of these phrases best describes empathy?

Ans 3 1. Feeling sorry for other's misfortune
/< 2. Venting pent up emotions
« 3 Putting oneself in other’s shoes
/< 4. Taking pity on others

Question ID : 497959564

Comprehension:
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The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. It is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the contractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
info an alliance with the purpose of helping the client overcome their
problems. The alliance lasts till the client is able to deal with the
problems and take control of their life. It is a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic, genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be ‘wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's situation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus.
empathy enriches the therapeutic relationship and transforms it into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

SubQuestion No : 19
Q19 Why is the client-therapist relationship contractual in
nature?
Ans o 1. Tt is a willing alliance with a common motive.
#< 2. Tt is based on mutual trust and is irrevocable.

/< 3. It is legally binding on both parties.

/< 4 Tt is temporary and arises out of compassion.

[ Question ID : 497959561

Comprehension:
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The special relationship between the client and the therapist is known
as a therapeutic relationship or alliance. Tt is neither a passing
acquaintance. nor a permanent relationship. The two major
components of this alliance are the contractual nature and the limited
duration of the therapy. The client and the therapist willingly enter
info an alliance with the purpose of helping the client overcome their
problems. The alliance lasts till the client is able to deal with the
problems and take control of their life. It is a relationship based on
mutual trust and confidence. A high level of trust is essential to enable
the client to vent out their feelings openly and unburden themselves
by confiding about their psychological and personal problems to the
therapist. The therapist encourages this by being empathetic, genuine.
warm and understanding. The therapist ensures the client that they
would not be judging them and would continue to have positive
feelings towards them even if the client is rude or shares deeds or
thoughts that may be ‘wrong'. This is the unconditional positive regard
that the therapist has for the client.

It is very important that the therapist should have empathy for the
client and not sympathy or an intellectual understanding of the other
person's situation. In case of sympathy. the person feels pity for the
other's suffering but cannot feel like the other person. Intellectual
understanding is cold and rational and does not evoke feelings of
either compassion or empathy. On the other hand. empathy makes one
understand the plight of another and see oneself in the other's shoes.
It enables one to see things from the other's perspective. Thus,
empathy enriches the therapeutic relationship and transforms it into a
healing relationship.

The therapeutic relationship also requires that the therapist maintains
strict confidentiality of the feelings. thoughts. actions and experiences
disclosed by the client. The therapist must not betray the trust of the
client or exploit them in any way. It is a professional relationship. and
must remain so.

SubQuestion No : 20

Q20 What attitude of the therapist could be detrimental to the
therapeutic relationship?

Ans  of 1. Being judgemental
/< 2. Being discreet
/< 3. Being empathetic

/< 4. Being professional

[ Question ID : 497959563

Comprehension:
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